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qﬁanﬁwr & fora Frr : Instructions for the candidates :

1. GETaT OMR JHv g% yv yyar 1. Candidates must enter his / her

. L. Question Booklet Serial No.
¥ YfeEr @mHiE (10 St @) (10 Digits) in the OMR Answer

HTvT o | Sheet.

2. Teml FerEva el wel o gl 2. Candidates are required to give their _
’ . ) answers in their own words as far
Jux g/ as practicable,

. T B T 9 T e yofy 3 Figures in the right hand margin
3 2 ) 7 indicate full marks,
Rz @Rt 1

¥ 4. 15 minutes of extra time have been
. # O YEE 9gd & fow
4 allotted for the candidates to read

15 fae @1 sifafee @ fear ar & the questions carefully.
5. 48 QA9 1 @S § & — @ug-ar gg ©- This question booklet is divided into
‘ two sections — Section-A and
aue-al . Section-B.
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G

6. @E-3 ¥ 100 TGS WA & ol 6. In Sectlon-A, there are 100 ?bjectfue
G Rt so went @ gww d ol B o
dfvard &1 vwg @ ofiw wwAl &
SW §7 W gy 50 IW @ &
qevie e o) geE ge @ fow
1 3% [yifta &1 w8l Sk Fit Iy
#0474 OMR 3IW TE H 7 7@
el faweg #i Aot / @it @il 97 °
wmE W fEEr W omerw &
&Y / @l el / &S [/ g
s &T OMR Iav-Yfdar & wai
FOAT AT &, =T wer gRkumm

type questions,
50 questions are to be answered.
First 50 answers will be evaluated in
case more than 50 questions are
answered. Each question carries
1 mark. For answering these darken
th;e circle with blue / black ball pen
against the correet .option on OMR
Answer sheet provided to you. Do
not use whitener / liguid / blade /
nail etc. on OMR-sheet, otherwise
the result will be treated invalid.

STAT=T T

> mre-g o 30T 3?’-‘,'-_',\-:.3. -WF!'E?] fog 7. In Section-B, there are 30 short
3 f=F 15 ¥ &7 gav S A answer type questions, out of
¥, N _— ¥, which any 15 questions are to be

answered. Each question carries

2 marks. Apart from these, there are

#7% AR, 39 @08 5 8 1 I

gy 53 13 & frd @ et 4wt
&7 IO &AT &1 UAF oA & fow
sEFEIRT &1

frdt TR & FeiaeiAe JuEve &1 8

97T quiaEr afad &1

8 long answer type questions, out
of which any 4 questions are to be

answered. Each question -carries
S marks.

Use of any electronic appliances is
strictly prohibited,
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G| - (110]

@Ug - 3 / SECTION - A

TS W / Objective Type Questions

TvT W& 1/ 100TF & WVT & WY 9N faweq {u v & ford /@ v wdt 31 et
50 %Al & IOV HGA ZWT gA ¢ Wel faweq & OMR ¥z ¥ fafeaa &¥)

50x1=50

Question Nos. 1 to 100 have four options, out of which only one is correct. Answer any

50 questions. You have to mark your selected option on the OMR-Sheet. 50 x1 =50

1. y@&?@ﬂ‘lﬁﬁ?ﬁﬁﬁrﬂﬁm%
(A) 1 | (B) 0
© 2 | (D) IS "
Abscissa of all the points on the y-axis is
(A) 1 B) 0

(C) (D) any number |

%,%,%,... A T &
@ 1 ® -1
© 4 o -
The common difference of the A.P. 0, B’ %, %, is
® 3 ® -
© 3 B -5
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S TR A A T (507 ) &, o g 999 0 G
@A o (B) -7
© 2 o e
If the general term of an A.P. is (5n - 7 then its first term is
w0 | - ® -7

© 2 ) -2

f3 4(0,-8) ok B(—H,O)Hﬁﬁqﬁlﬁma’fif@rtﬁsé?mﬁ—ﬁ'ﬁrﬁémiﬁ%

(A (0,0) (B) .(—6,—4)

€ (-4-6) (D)  (-12,~-8)

The coordinates of the midpoint of the line segment joining the points A[O,-—B]
and B(-12, 0) are

@  (0,0) B) (-6-4)

€  (74+6) D) (-12,-8)

AT 4ABC % 3t & FEwiE A(x,, W) Blxy, yp) T C(xy, yy) ¥, A g5
F5e FT e g |

(A) (x1+x2+x3,y,+y2+y3) (B) (xl_x2"'x3'yl"92"y3)
+1
©) (xl+x;+x3'y1+y§ J:;J D) (x1+x32+x3,yl+y2+y3]
3
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[110]

If the co-ordinates of the vertices of AABC are A(x,,y,), B(x,, y,) and

C(x5, y5) then the coordinates of its centroid will be

(A) (X + X, + X3, Yy +Yp+Y3) (B) (X =Xxp—X3, Y ~Yp~Y;)
X; +Xs+X y+y-;-y Xy +Xp+Xn Uy +Y,+
©) (1 22 3 1_2:;2 3} (D) [1 g 3 4 32 93]

e g P(2,3), Q(4, k) TR R(6,-3) WA & M k=

(A) 2 (B) 4

) 6 : ' {D]IO
Ifthepoi.l?tsP(ﬁ,S),Q(4,k]andR(ﬁ,—3}a.recoliinear,t]mnk=
A 2 - (B) 4

© 6 © o |

I Brget & ¥ (0, 4), (000) T (3, 0) €, T FHH GRAT &
(A) 5TFE B) 12 TFE

(©)  12/5°FHIE | D) 5V5 T

If the vertices of a triangle are (0,4 ), (0, 0) and ( 3, 0 ), then its perimeter

will be
(A) 5 units (B) 12 units
(©)  12/5 units (D) 55 units

S-1 |=| 17001-(67/70) Page 5/48
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o

10.

=T P(3,0),0(7,0) 3 R(8, 4) A T Bryet &1 Bdacwer &
(&) 24 51 R B) 12 @ 3T
(€) 48 T u:;; 8 Tl gaTS

(110]

The area of the triangle formed by points P( 3, 0 ), Q(7,0)and R(8,4)is

(A) 24 square units (B) 12 square units
(C) 48 square units | (D) 8 square units
gt & T IO T AR B B

(A)  90° ' (B) 180°

(C) 120° .(D} 100°

The sum of all the threé angles of a triangle is
(A)  90° (B) 180°

(C) ».¥120° (D) " 100°

APQR H PQ=PRAYT £Q=40" @ £P=

(A) 40° (B) 80°
(C] 1200 {D) 1000
S-1 |—=|17001-(67/70) Page 6/48
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In APQR if PO = PRand £Q = 40 then £P=

[110]

& a0 | R
©  120° D) 100°
11.  F=fefEd § S9-9 9€99 81t Wed & ¢ ?
(A) O B) -1
< 1 (D) 2
Which of the following is the smallest natural number ?
(A) O B) -1
c 1 : (D) 2
12. TeeAfetEd § @E-d o €@ 2
(A) V25 . B V5
() _}E | D) V3 +43
Which of the folloWiBg is a rational number ?
(A) V25 B 5
(©) :/-1_5- D) V3+V3
13, FaeffefEa d wE-9 SR e e ?
(4) 1-3 B) V16
(C) ‘(-E’; (D) V5 x5
5.1 |- [17001-67/70) Page 7/48
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Which of the following is an irrational number ?
(A) 1.3 (B) - V16
() J% _ (D) V5 x5
14. AR p 3R g IV ¥y FEATE §, A ITH Fo o B
A 1 y (B) 2
< 3 D) 0
If p and g are two prime numbers then their HCF will be
A) 1 ‘ B 2
) 3 - (D) o
15. o- 13 =
B s ® &3
NS | N -
16. 18 YT 72 I Ho Ho &
() 18 ' (B) 72
C 9 ) o) 2
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E [110]
The H.C.F. of 18 and 72 is |
(A) 18 (B) 72
(€) o9 (D) 2
17. V12 &1 9REGERoT 1ot &
@ V3 B) V2 '
© & _' o 205
The rationalising factor of V12 is
| A V3 | B) V2
© V6 - D) 2V3
18.  Al§ p Tk YA QUITeh & &l W {9 QUi &1 &9 &
(A)  2p | (B p+l
(C) D | ! (D) ".;p+1
If p is a positive integexl' then the form of positive even integer is
(A) 2p (B) p+l
(C p (D) 2p+l1
F-74/74 S-1 [—]| 17001-(67/70) Page 9/48

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

[110]

it o frgeT Yo AR Wid € 2

19.
W 5 ® 1
© 4 D) 4o
Which of the following has terminating decimal expansion ?
& i ® i
o L8 G
20. fr=fefEa o e vmed TR oid & 2
. ® 35
© = ® %
Which c;f the following has non-terminating decimal expansion ?
) g | ® i
o D)
21, s et g Y oRf SR lshet 1 GRS THE @, 9 9 w1 S @
(A) n TS ' (B) 2 3&% |
(C) 3nIHTE (D) 4 FHR
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23.

[110]

If the circumference and the area of a circle are numerically equal, the diameter

of the circle will be

(A) 7T units (B) + 2 units
(©)  3Brunits (D) 4 units

3 At B et e e B

(A) 257 GH3 , (B) 36x §HI3
©) 64 A3 (D) %—2 n Q3
The volume of a sphere of radius 3 cm is

&) 257 cm?® (B) 367 cm?
(C) 64n cm® (D) % n cm®

i U g F1 R 104 Q8 %, ot ST S enm
A) 107 THI? (B 20n A2

(C) 257 G2 (D) 30x QHI2

If the circumference of a circle is 10® cm, then its area will be

(A) 107 cm? (B) 20m cm?
(C) 257 cm? (D) 307 cm?
S-1.|—| 17001-(67/70) Page 11/48
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-

[110]

o uAY A e, e an S e g b, 6 4t @ar s At @, at sk
IEEMIE RSt EAD

(A) 545 A (B) 1045 At
(©) 2045 §Hl D)  25¢5 ¥l

The length, breadth and height of a cuboid is respectively 8 cm, 6 cm and 5 cm

then the length of its diagonal is

(A) 55 crn. | (B) 1045 ém

(C) 2045 cm ' (D) 255 cm
25. 49 B9 916t SISgT T A% e

() 128 3 ' B 138 w2

(C) % Geit? (D) % A2

The area of a semi-circle of radius 4 cm is

(a) A 128 em? - ® 158 om?

© 18 emz O 178 em?
26. 4= ¥ -8l U geAT Y Wiewdr T 8 gt € 2

(A)  25% | (B) %

c 2 o 3
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Which of the following cannot be the probability of an event ?
(A)  25% ® 2
o 3 -
27. WSSl T FaH 7 2 &
(A) o ) B) 1
<€ -1 _ (D) 2
The mini_mu‘m value of probability is |
&) 0 | B 1
ey, =i | D) 2
28. @Wﬁ%ﬂml qmﬁwmaﬁﬁmﬁmﬁﬂ
&) o i B 1
© & O %
A die is thrown. The probability of getting an odd number is
(A o0 (B) 1
© 1 O %
i S-1 |—=| 17001-(67/70) Page 13/48
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29.

30.

(110]

aﬁwﬁﬂaﬁﬁﬁaﬁmﬁmorﬁ,ﬁ}mmaﬁmfﬁmﬁﬂ

1 1
3 2

If the probability of winning a match is 0-7 then the probability of losing it is

1 1
GV B 5
© 15 o £

mmﬁﬁﬁwmﬁ%ﬁﬁﬁ@mmﬁmwtﬁm

IO T T ARG & Bl ARl &
W ® =
© 2 , o <

A'eard is drawn at random from a well shuffled deck of playing cards, then the

probability of getting a black king is

3 2
® 26 ® 13

1 3
© 26 & 1

S-1 |—=| 17001-(67/70)
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31. 64 % I TS 1 o w1 e L
(A) 4 | s
€ 6 . (D) 8
The exponent of 2 in the prime factorisation of 64 js
Ay 4 B) 5
© 6 (D) 8
32. Wm(p,q)xWW(p,q]W%
@ (pxaq) ®m 2
. q
©  p%g® | o
. p
H.CF.(p,q)xLCM.(p, q)is equal to
(A)  (pxaq) - ®
© p%q? o 4
_ p
33. Todl 9gug =t gl e
(a) e (B) YT QUi
(€ U aE (D) T A FIE
The degree of any polynomial is
(A) fraction number (B) negative integer
(C) whole number (D) none of these
S-1 |=| 17001-67/70) Page 15/48
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34.

35.

36.

[110]
gas ax2+b.t+c,av&03“m@iﬁm%

(A) (B) W

(©) WA @ o) afquEer
The graph of polylnomia] ax? + bx+c, a #0 is

(A)  circle (B) parabola

(C)  straight line (D)  hyperbola

YA 2, 8 AT} SEURI I WA Bt

Aa) 1 - B 2

© 4 . D) SR
The number of polynomials whose zeroes are 2, 8 is |
A 1 B).. 2

C) 4 | (D) infinitely many
et el AGYE & ¥ 4% 2 T 6 €, & T wgeg @

(A N*2 +12x+8 (B) x2-12x+8

(C) x?+4x+12 (D) xz_-—8x+12

If zeroes of a quadratic polynomial are 2 and 6 then the quadratic polynomial is

(A) x2 +12x+8 . (B) x?-12x+8
€) x?+4x+12 (D)  x*-8x+12
S-1 |—=| 17001-(e7/70) Page 16/48
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|

[110]
ﬁmﬁa@? y2+16y+55 %?ﬁﬁﬁ%

(A) I[N TS (B) QI ¥R
(C) TS G996 T qQ@U H/MHF (D) GHA

The zeroes of the quadratic polynomial y2 +16y + S5 are

(A) both negative (B) both positive
(C) one positive and other negative (D) | equal

o TgUE 2x2 +5x— k & YT UH W F A @, Al k F T4 &

38.
(A 2 B) -2
© 3 o i
If zeroes of the polynomial 2x? +5x-k are reciprocal to each other, then the
value of k will be
(A) 2 | B) - -2
© 3 o -3
39, FE plx)=x?+5x-12 Al p (1) FHATE
(A) -12 B) 6
(€ -6 (D) 12
s-1 |=| 17001-(67470) Page 17/48
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40.

41.

[110]
If p(x)=x?+5x-12 then the valuc of p (1) is
A) -12 | (B) 6

() -6 (D) .12
I FHIEIOT 2x+4y=3 o 12y +6x=6 T &A €

(A) IS & I (B) | TF &

) A | (D) E0TE e

The solution of the pair of thelequations 2x:k4y=?{ and 12y+6x=6 is

(A) no solution ' (B) one solution

(C) two solutions (D) infinitely many solutions
frfefaa o ®-a1 &9 ygfa It 719 T&l ¢ ?
(A) HHA . (B) HEES

(€) T@AR (D) HFH fade

Which of the following is not a measure of central tendency ?

(A) Mean (B) Median
(C) Mode (D) Standard deviation
S-1 |—=| 17001-67/70) Page 18/48
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42. W 14, 15, 13, 16, 14, 15, 17, 13, 15 T geTeh &
A) 13 | . B 14
© 15 ' D 16
The mode of observations 14, 15, 13, 16, 14, 15, 17, 13, 15.is
(4) 13 | (B) 14
© . 15 - (D) | 16
43. WO U YTehd GEATS @ HE §
(A 2 | | B 3
() 10 . @ 20
Thie mean of first five natural numbers is
A 2 (B) 3
() 10 (D) 20
44, UHV 8, 12,7, 14, 6, 13, 15 Tl S &
(A 9 (B).l 10
(€ 11 (D) 12
S-1 |—| 17001-67/70) ' Page 19/48
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45.

46.

47.

(110]

The median of the observations 8, 12, 7, 14, 6, 13, 15 is
(A) 9 ' (B) 10
© 11 D) 12

g 1 A9 T 3R AT ST ST 6 ST SRR Al §

(A) H™ (B) HM™ESR

(€ wgEw (D) T | S T

The difference of three times of median and two times of mean is equal to
(A) mean | (B) median

(C) mode (D)  none of these ]

a YT STl THETg BT T Ao &

A) a? - (B) %ag

(C) —‘gaz (ﬁ) '%az

The area of'dn equilateral triangle with side a is

(A), ana? (B) %—iaz
(C) i‘gaz : (D) 2a®

7 g @GR ST T o ufE < 88 Wi S SR & A
(A) qﬁmaiﬁm=aﬁmr&1ﬂﬁ (B) TN 1 BAHS < A HT TG

(©) 79 H EEAEA > AT H AR (D) T W B

S-1 [—=| 17001-(67/70) Page 20/48
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48.

49.

[110]

If ir . ' :
both the circumference of a circle and the perimeter of a square are equal to

88 cm then
(A) Area of the circle = Area of the square
(B) Area of the circle < Area of the square

(C)  Area of the circle > Area of the square

(D)  None of these
Hﬁﬁ?ﬁﬁﬁmﬁmamé,ﬂ’rmﬁﬁﬂm
(A) J3a THE -(E;rJ V2a T

(C) 3aTFE | (D) J6a THE

If each edge of any cube is g unit then its diagonal will be

(A) J3 a units - | (B) JV2a units

(C) 3aumits (D) +6a units

frear R 41 59 H A6l UF Tagedd Wi 1 S g

(A)  nR2H ¥ THE (B) %nR'-‘H U TeT
(C) -:I)TnHQR o Tl (D) %nh’i‘ﬂ RERECTE

S-1 [—=] 17001-(67/70) Page 21/48
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(110 ]

The volume of a right circular cone whose radius is R and height is H, 1s

(A) aR2H cubic units (B) %ﬂRQH cubic units
(@) %KH 2R cubic units (D) —g-nR2H cubic units

50. df% Q) gl % SFHE T A 4 : 25% A IAH! Brownadt FT I W
(A 3:5 B) 5:2
€ 1:5 D) 2:5
If the ratio of the area of two circles is 4 : 25 then the ratio of their radii wﬂl be
Ay 3:95 (B) 5:2
(€) 1:5 D) 2:5
51. df% 6 aYl ¢ W IV & ol
(A)  cos 0 =cos ¢ul : (B) - sephe = cosec ¢
(C) sin6=sin® (D) tan6=tan¢
If 6 and $ are complementary angles then
(A) cos 6 = cos ¢ ./ (B) sec = cosec ¢
(C) sin0=sin¢ | (D) tan®=tan¢
52. sin®75 +sin’15 =
(A) O B) 1
(C) -1 (D) 2
S-I |=]| 17001-67/70) Page 22/48
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‘ [110]

53. l+tan20=

(A) 0 (B)  sec?0

©) ~sec? 0 (D)  cos?0
54.  2(sin®a+cos?a)=

A 1 | B) 0

© 2 | D -
55. (5cosec?0-5cot? 0)=

(A 1 : | B) 5

€ -5 ' (D) o

56. ?-'lﬁ 3a=180" T‘ﬁ cos o =

(A) O B) 1
© 3 m
If 30=180" then cos.o =
(A O B) 1
© = (D) 7‘-2—
57. 3 asin@=1 3T bcosO=1 ?ﬁ tan 0 =
W 2 B 2
© 1 L
S-1 |—| 17001-(67/70) Page 23/48
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58.

 59.

If asin0=1 and bcos0=1 thentan0 =

W £ | ®

© 1 : (D) -;'—2
% fras A § 2 .

(A)  sin 30° (B) tan 30°

(C) cos 60° (D) tan 45°

Whose value is -1—?

J3
(A) sin 30° : (B) tan 30°
(C) cos 60° (D) tan 45°

zTﬁf{SE:<:9+tanE}=Juc'<"fftanlﬁ)=

2 2
x“+1 =l
® B
2
]
O == o) &
( j x2+1 . X

Ifsec 0 + tan 6 = x then tan 0 =

(110]

BiharboardQuestionpaper.com

2 2
: x“+1 x*~1
A B
2
X x< =1
C (D)
() x2 +1 *
S-1 |—| 17001-(67/70) Page 24/48
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E [110]
60. sinZ¢+—>Lr
1+ tan? ¢ "
@Ay 1 - (B 0
© sing O =
2
61. TE TAMR G 6 GHRE 0% (13 - 2n) T, T THH T =R a0
(A O . B -13
© 2 O -2
If the general term of an A.P.is ( 13 -2n ] then its common difference is
A) O (B -13
(c 2 : (D) -2
62, WA S 126, 120, 11405 H BT R 0 F ?
(A) 20 Eﬁ ; (B) 214
€ 223 | () 234
Which term of the A.P. 126, 120, 114, ...is0?
(A) 20th (B) 2l1st
(C) 22nd (D) 23rd
S-1 |—| 17001-(67/70) . Page 25/48
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63.

64.

65.

[110]

IRV AABC W £B=90", AB=12 ¥, pC = 5 AR 41 AC = 13 AH & A sinC

SUET /I
G
© 3

(B)

(D)

.8
13

13
5

[n right AABC, £B=90", AB=12cm, BC= 5 cm and AC = 13 cm, then sinC is

equal to
5
A =
(&) 12
12
C iAs

(B)

(D)

M8 cos 0 = p Al tan 0 T T &

) M-P

(C) P

() VP
P

©) £

1- p2
1 —3

sin0

(A) cosO

(C) secl

(B)

(D)

(B)

(D)

(B)

(D)

ule Gfa

cosec 0

cot 0

S-1
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E [110]
66. sec Bxcos B =

A) 2 B -1

= 0 {D.) 1
67. IR cotﬁzJ—lé- Al sec 0 H A

A V3 B) % :

(C)' 2 (D) 7_{;5-

If cotf= —‘% then the value of sec 6 is

@ V3 ® L

© 2 (D) 71_5
68. TE A=45°T sin A+ cos A=

(a) 2 (B) —J%

© 3 @ 1

If A = 45° then sin A+ cos A=

a) V2 (B) 715*

(C) % D) 1
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09.

70.

71,

(110 ]
fo'{ 2sina=2 @l a =
Ay 0° (B) 45°

(C)  60° (D) 90°

If 2sinax=2 then o =

(A) Q° . (B) ‘45°
(C) 60° (D) 90°
tan21° _

cot69°

(A) O B 1
&) -1 2 3

© O

k& 69 9 % A0 GRS x42y=3 TN 3x+ky=0 TR Y@ F VR
FAATE ? | : '

A -6 B -

O |—

©), 5 D) 6

For what value of k, the equations x+2y=3 and 3x+ky=9 represent

coincident lines ?

a 1
(A) 6 | -=
(C) L D) 6
6
S-1 |—| 17001-67/70)
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(110 ]
a b ¢
72 qﬁ ﬂ._; = -b—; = -é -(:ﬁ F‘ﬁEF(UT ﬁm a1x+bly+c1-_~0 o4 q2x+b2y+c2-_-.0 =238
& B
) S (B) IS T T
(€) IFEA T D) TR
a; _b 1 . . » d
If — = — = — then the solution of system of equations a;x+bjy+¢c, =0 an
2 by
‘ayx+byy+c, =0 will be
(A)  unique solution (B) no solution
(C) infinitely many solutions (D) . none of these
73, Freteted § ¥ SM-91 fgEa gHe 2 ;
: : | 1
(&)  x*-4/x+4=0 B) x? -.x—2=9x
C) 2x2~2x+1=(2-x)*+2 D)  x2+4x+4=(x?-1)?
Which of the following'is'a quadratic equation ?
2 1 _
(A) x%-4dera=0 B x -;2—_9::
€ 2x2-2x+1=(2-x)* +2 D) x*+4x+4=(x?-1)
74, Trefenad § A SE-A1 EE GHEO T E 2
2_.2
(A)  3(x+1)2=x?-2x+4 B) Ax-x*=x?+5
2 16x =(x? + 3x)* +7
(€) (fB3x+45) +x*=4 (D) b
S.1 |—=|17001-@67/70) | . Page 29/48
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76.

[110]
Which of the following is not a quadratic equation ?
(A)  3(x+1)2=x? -2x+4 B) 4x-x’=x%45
(C) (V3x+V5)? +x?=14 D)  16x3=(x? + 3x)?+7
RIERFLIGR i CT] sz-px+p=0'ﬂﬂ%wg:f,ﬁ’fp 1 T &
a) 4 (B) Had 0
€ o8 (D) had 8

If the quadratic equation 2x? - px+ p=0 has equal roots then the value of |

pwill be
A) 4 (B) onlyO
© o8 (D) * only 8

7T FHELx2— kx +4=0 1 HI§ JoA Afaeh &l &, df k 1 TF &
(A) €W <-4 ' B) k>4 |

(C) -4<k<4 (D) k=4

If the equation x2 — kx+4=0 has no real roots then the value of k is

(A)' k<-4 (B) k>4
(C) —4<k<4 (D) k=4
S-1 [—| 17001-(67/70) | Page 30/48 '
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77.

AR @ T p AT R 12 - /5 x- 1220 & T &, A s povF=

(A)

(€

3J3

2J3

(B)

(D)

-4J3

443

(110 ]

If @ and B are the roots of the quadratic equation x?-3y3x-12=0 then

a+ﬂ—J—=
A 33 B) -4/3
C©) 2V3 D) 443
78. FER S 3, 7, 11,... T 1434"1%:%.
(A) 52 (B) 55
(C) 56 D) 59
The 14th term of the A.P. 3, ;7, 11,...1s
(A) 52 (B) 55
(C) 56 (D) 59
70, fy=fafEg § -9 QA S5 0§ 2
(&) ~B.=6,~4:~2 i (B) 515,18, 28, ..
(@ 01, 0-11, 0:111, 0:1111, ... (D) 1%%2
4 S-1 1700 1-(67/70) Page 31/48
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E [110]
Which of the following is an A.P. ?
A) -8,-6,-4,-2,.. (B) 5,15, 18, 28, ...
© oLo1,0uL01L. @ 1,132
80. WHIR % 16, 11,6, 1, -4, ... & nal T I
(A) 21+ 5n (B) 21-5n
(C) 5n-11 (D) 11+5n
The n' term of the A.P. 16, 11,6, 1, -4, ... is
(A)  21+5n (B) 21-5n
(C) Sn-11 (D) 11+ 5n
\
i sinBO: ccot30’e
cos 30 '
(A) £9%0 | - (B 2
) 3 D) 1
a5y 1—tan2245: _
l1+tan“ 45
(A) sin 90° (B) sin 0°
(C) tan90° _ (D)  sin45°
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110
83. 9% (7,10) fra v ¥ Rem & 7 Y
(A HIH U B) fid U
(C) | g wig - D) =¥ R
In which quadrant does the point (7, 10 ) lie ?
(A)  First quadrant (B)  Second quadrant
(C) . Third quadrant (D)  Fourth quadrant
84. tan 45°: tan 60° = |
(A)  1:2 ~ (B) 3:1
C) 1:43 | (D) J3:1
85. x-37e1 W fud foredt farg & Fadwnies &1 w=q @i
@A) (x0) B)  (x x)
€ (0,y) ' D) (xy)
The co-ordinates of any point on the x-axis are of the form
@) (%0) ® (xx)
€ (9yy) B) (xy)
86. UF DT F T R IUH! O H G 1:/3 ¥, A I B 74T BT ¥
(A)  30° | (B)  45°
(C) 60° (D) 90°
~ S-1 |—| 17001-(67/70) Page 33/48
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87.

88.

(110]

The ratio of the length of a rod to its shadow is 1:4/3, so the angle of elevation of

the sun is biharboardquestionpaper.com

A)  30° (B) 45°

(C) 60° . | (D) 90°
g A g R R TE

&) eyt B -
©)  (x+y) T D) (x?+y?) ThTE
The distance of the point R(-x, y) from the origin is

W A Fifunis . X @ [FogFnite
(©  (x+y) units (D)  (x2+y?) units
o=l p(5,7) 3R 0(8,11) & s =t {& T

A) 3137%E j(B] | 5 TS

ey 137 - D) 63FE

The distance between the points P(5,7) and Q(8,11) is

(A) 31 units ' (B) 5 units
(C) 13 units (D) 6 units
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89.

0.

1.

[110]
Ty =4 1 3 fo ot e frg @ R

Al S B (2,4)

€) (4,0) D) =1 S

The graph of the line y = 4 passes through which of the following points ?

A (4,2) (iay (2,4)

€ (4,0) (D)  none of these
e farg & e §

® (0,0) ® (1,1

(€ (=1,-1) D)y (1,0)

The coordinates of the origin are

®) (0,0) S ® (L1)
(C.’ (_1:-1..] (D) ‘1:0}
g% AABC~AQRP &?O(MBC' =92 AB=18 9l AW BC= 15 VA @t PR=
'’ &o (APQR) 4 |
W 20k ' @ 103
© 8@ D) 129
S-] 1= 17001-(67/70) Page 35/48
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92.

93.

[110]
-AORp. A (AABC) _9 . d BC= 15 cm then PR =
If AABC~AQRP, apers = 7, AB= 18 cm an
@  Zem . () 10cm
(©) 8cm (D) 12cm

A% APOR H PR?=PQ? +QR? T £0=

(A)  60° : (B) 75°
C) 45 (D) 90°
In APQR if PR?=PQ? +QR? then £Q=

(A)  60° | | (B) 75°
(C) 45° (D) 90°

APQR H, 9§ 5 3R T shHw: wysmed PQH‘EITPR@%FW&%%ST[|QRJ%
ps=xﬁn°r. SO=(x=-2)¥H, PT=(x+2) Ut G4 TR = (x— 1) At & x T

(&) 49 B) 457
€ 3 (D) 3-59H

In_ APQR, S and T are points on the sides PQ and PR respectively such that

ST||QR. If PS=x cm, SQ=[x—2}cm,PT=_(x+2]cmand TR=(x-1)cm

then the value of x is
(A) 4 cm (B) 45 em

(C) 3cm i (D) 3:5cm

S-I |—] 17001-(67/70)
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94.

95.

[110]

MBCﬁﬁﬁgDaﬁIE Y eIl AB T AC W 39 WK ¢ fF DE || BC. 3%
AD _2 3Rk ac= 18 At @ AE=

DB 5
(&) s¥f B) 63
(© 10¥H -~ (D) 1279

In AABC, D and E are points on the sides AB and AC respectively such that

AD _4 ) -
DE | | BC. If £2 =3 and AC= 18 cm then AE

(A) 8cm F(B) 6 cm

(C) 10cm : (D) 12cm .

el e s el T e vt &5 e gt
(A) | 10 T . (B)l ﬁﬁ'ﬂﬁ.

) 129 (D) gﬁﬁti’r

The distance between two parallel tangents drawn on a circle of radius 6 cm is

(A) 10 cm (B) 6cm
(C) 12 cm (D) 36 cm
S-1 |—| 17001-67/70) Page 37/48
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E (110 ]
06. foddl = g @ 9w W faell wvt Yt il s o § 2

(A TH | B) &l

© N B (D) T

How many tangents can be drawn to g circle from an external point ?

(A) One (B) Two

(C)  Three _(D) Infinitely many
97. T T A A £A0B=130" a 4.%?3 &1 HH &

(A) 130° (B) 50°

(C) 65° (D) 100°
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(110]

In the given figure ZAOB=130"; then the value of ZAPB is

A

(A) 130° (B)

(€ 65° (D)

50°

100°

08. T M HHA A TP AWl TQ W TRI-@I O H% g gu W §F YEK & B

/ZPTO=50", @ £OPQ T WHF &

@& 30° | (B)

(€ 45° ' - (D)

50°

In the given figure TP'arid TQ are two tangents to the circle with centre 'O such
that APTQ=5_O° ,then the value of ZOPQ is ' '

P

Q
(&) 30° ; (B) 25°
(C) 45° D)  50°
S-1 | =] 17001-(67/70) Page 39/48
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99.

| [110]
T w9 A W B T g & svarTs wei-Yanet @ der ¢

@ 1 B 2

< 3 (D) 4

The number of common tangents of two circles which touch each other
externally is

@A 1 (B) 2

< 3 D) 4

100. € T sk H fg O g @ d ¥ T £40B=40" T LOAB FIHA €

(A)  40° (B) 60°
(C) 80° (D) 70°

In the given figure point O is the centre of the circle and ZAOB=40"then the

.value of ZOAB"is

(@)
/%\
AvB *
(A)  40° « (B) 60°
) 80° (D) 70°

S-1 |—| 17001-(67/70)

Page 40/48

BiharboardQuestionpaper.com

mScanner


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

[110]
WUE - T / SECTION - B

Y I W9 / Short Answer Type Questions

T R 17 307F 7Y I 0T &1 39 @ frt 150wt & g $1 i v 3

1.

fore 23 freiRa &1 T8 508 %90
Question Nos. 1 to 30 are Short Answer Type Questions. Answer any 15 questions. Each
question carries 2 marks. 15w 2 = 30

S g B i Feg wr A et s oa ¥ | 2

Find the height of an equilateral triangle whose side is 2a.

%@M@%Mﬁﬁ%ﬁéﬂm(g 4) %1 3 4 F fwiw (s, 7)%?&3%@
ST Ta S| | - 2

The co-ordinates of the mid-point of line segment AB are (2, 4). If the
co-ordinates of A are ( 5, 7)) then find the co-ordinates of B.

FG’{&'E?}% 1+C°SB sin@ = 2cosecH. 2
sin® 1+cosB

Prove that i + sind = 2cosccel.
sin® l+cos6

0-0875 aﬁ%%mﬁ%ﬁaﬁpaﬂtqﬁﬁéquﬁﬁl 2

Express 0:0875 in the form of ‘: where there is no common factor in p and q.

aEqa'-:axQ-x—z;%‘e[aﬁaﬁmﬁl 2

Find the zeroes of the polynomial 3x? — x - 4.
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o

10.

1

[110]
2 dEmalt W 3R 26 ¥ T G Wew qudt den S A ¢, @ det

2

The difference of two numbers is 26 and one number is three times of other;

then find the numbers.

T AR 9 & 9 5 ¥ o Froar g4 A 1 9 o Y el @ R S a” A

ﬁgaﬂmﬁrw%l | 2

A wire is in the form of a circle of radius 84 cm. Find theé side of a square which

can be made by this wire.

Fa@aﬁ%ﬁﬁﬁ(q,m,(a,c))aﬂ'{(o,bm'ila"t%,ﬂﬁ%+-};=é~. 2
Prove that points (3,3),(a,0)and (0, b) are collincarif%-.l--};= %
gl f® tan2¢+cot2¢+2=sec2¢- cosec%. | 2

Prove that ‘L&Ln2 ¢ $cot? p+2= sec? ¢- cosccgcp i
xGﬁTyﬁWWﬁﬁﬂ'ﬁ'ﬁﬁ?ﬁFﬁ(&y),ﬁﬁaﬁ(S,ﬁ]aﬂT(_3.4)}}
T &1 | | 9

Establish a relation between x and y, when point ( x, y ) is equidistant from the
points (3,6 ) and (-3, 4).

maﬁmmm&mm%? )

How many three digit numbers are divisible by 7 ?
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12.

13.

14.

16.

17.

18.

19.

[110]
AR A, 4B W sc, anBC ¥ 3T gt fag =t fe cosA;B =sing. 2
If ZA 4B and «ZC are internal angles of AABC then prove that
cosA;B =sing-. _ . ‘.
o o fafyr @ TR 8+ Sy = 0.UF 3+ 2y = 4 F1 T B 2

Find the solution of the equations 8x + Sy = 9 and 3x + 2y = 4 by cross-
multiplication method.

9 =X [ tan 48°. tan 23° . tan 42° . tan 67° = 1. )

Prove that tan 48° . tan 23°. tan 42° . tan 67° = =

s e 7 I ¢ v ¥ /341 T VG-1 1 2
Find a quadratic polynomial Whose zeroes are Y3 +1 and 3 -1.

feeme TR x2 - 2/2x+1=0 % O A B _ )
Find the roots of the quadratic equation x? —2y2 x+1=0.

3 ferdlt e it s sgohs @ am L0 ¥ wen wa 2
If the sum of a number and its reciprocal is % , then find the number.

TEET 95T 21,18, 15,...##—?17?&—81%? . 2

Which term of the A.P. 21, 18, 15, ... is - 81 ?
fodl Bt & @ &I x, y 91 40° &1 Y FN x @y F " w IR 30° ¢, @
x 91 y T FL| 2

The three angles of a triangle are x, y and 40°. The difference between two

angles x and y is 30°, Find x and y. bihafboardquestionpaper.com
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20.

21.

22,

23.

24.

25.

26.

'Find the area of the triangle whose vertices are (

(110]
: 2
T R V13 -x2 = x45.
Solve J_13—x9 = x+5.
3.5 AL e ATt ST 1 THYS 1 A A B 5
Find the-curved surface area of a hemisphere of radius 3-5 cm.
2

39 FrpeT T &wel T Y e W (1,-1), (-4, 6) 3R (-3, —51%I

1,-1),(£4,6)and (-3,-5)-

qﬁﬁl-‘gﬁA(2,3),B(4,kma"C(e,—s)ifi%@%a’rka?rmﬁrﬁﬁl .
If pointsA['Q,S),B[_fi,_k] and C ( 6, — 3) are collinear then find the
value of k. “

ﬁtl?s’%’{%(l”an‘q] — tan2A . - 2.

l1+cotA ; | ‘

Prove that Letand)E | 2,

el el '

QUi S, 3, - 2, ... 3 YYH 22 Tl H AT A B | 5

Find the sum of first 22 terms of the AP. 8, 3,-2, ...

a{r‘q%tﬁﬁ-—gﬁa’trﬁm%mﬁ-ﬁiﬁsoﬁ}aﬁqang,wa;ﬁ,@{w
o T 30° %1 AR @ Hard T | 2
From a point on the ground which is at a distance of 30 m from the foot of a

tower, the angle of clcvaliqn of tower is 30°, Find the height of the tower.
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[110]

27. TR wifs (1 C"w) - cot20. 2
1-tan0
Prove that I—_—Cﬂ E = cot2 0
I=—tang) - o U

28.  sin 45° cos45° - sin 30° cos 30° & HH fHehmet | 2
Find the value of sin 45° cos45° — sin 30° cos 30°.

29. qﬁcosA=%ﬁcotAQﬁtanAﬂﬁﬂ'ﬂﬁﬁl 2
If cosA:% , then find the values of cot A and tan A.

30. dRfEg P4 I BRI sTHEE @ A H AW 70T AL ' 2

If the -distance of point P(A,4) from origin is 5 units, then find the value of A.
g I IIF{ / Long Answer Type Questions
WY AT 31 ¥ 38 i I WA € Eﬁ&ﬁﬁﬁ4ﬂﬁ%ﬁi‘%l TRE W &
fau 5 i faifia g | | _' " 4x5=20
_ Question Nos. 31 to.88,are Long Answer Type questions. Answer any 4 questions. Each
guestion carries 5 marks. _ _ | 4x5=20
31. = WS & Al F Sl 180 ¢ 4G SIS WEAT T ot qEI WA 1 IS A 8,
<11 ATt 1 | . 5
The difference of squares of two numbers is 180. If the square of smaller

number is 8 times of bigger number, find both the numbers.
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32.

33.

34.

35.

36.

(110]

: | \
urwia fafy @ wdleor g ax - 5y=20 T 3x+5y=15 7l L

i -5y=20 and
Using graphical method, solve the pair of cquations 4x ~5Y

3x +5y=15.

fﬂ?ﬁ‘ﬁﬁﬁ sinf-cos0+1 _ 1 - 5

sinO+cosf-1 secH-tan0d’

sinf-cosf+1 1
sinf+cosf-1 secH-tan®’

Prove that

5 A o A T wEAE B & Sl U g @i S B S e B
WY HL | | | S
Draw a circle inside an equilateral triangle of side 5 cm which touches the sides

of the triangle.

fag #¢ fF o gaiaR @yl el & e g # e g [WEvg ga S ES"
I & 1 5

Prove that the line segment joining the points of contact of two parallel tangents

to a circletis a diameter of the circle.

T ST 3T TWH q97 TF 50 HIX Sl HAR T & &fas a0 W g 1 J6R
F v § WY % SO0 qu Fraet fat & SEAn Hivr R 300 @em 450 £ b g
w9 1 G T F | 5
A vertical flagstaff and a 50 m high tower are situated on the same horizontal

base. From the top of the tower, angles of depression of upper and lower ends of

flagstaff are 30° and 45° respectively, Find the height of the flagstaff,
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37.

38.

[ 110 |
@ T ffegt ot ey 18 & ) s ariswan T 5
a'-!'f-a.fﬁ'ﬂﬁ' 11-13 13-15 15-17 17-19 19-21 21-23 23-25
T *T T 7 6 9 13 f 5 4
The mean of the given data is 18. Then find t.h.c unknown frequency::
Class-interval 11-13 13-15 i5-17 17-19 19-21 21-23 23-25
No. of children 7 6 9 13 i S 4

THG & TH S doF & TS [ W TH FGTell Wht Th I IAF1 A1l ¢ |
g S T FaE 10 WA 3R I F MR &t B 3.5 0 @ o 99 gu S =
q@ﬁﬁiﬁﬁwm#l' |

S

An article is made by scooping out a hemisphere from each end of a solid

wooden cylinder. If the height of the cylinder is 10 cm and its base radius is

3'5 cm then'find the surface area and volume of the remaining solid.

fagre §td'® o1v 3ie yere sifsfaas
YT AU, Az’ U, 3fide-Hl,

UT&Ishdl, siied, Al ¢&e, Ae-31v 3T

IR e udlen uss u7 e H fAT...

( BiharboardQuestionpaper.com -p
X
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